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When he said; ‘I presented false testimony’ — sn7w7 PR M7V 9RIN2

OVERVIEW

X217 said that we can establish the ruling of 27 (that an 2117 7V pays proportionately)
in a case where one witness recants and states, ‘I testified falsely’ (when I stated
that someone owes money). In such a case the ruling of 27 applies that an 7v will
have to pay his share for the loss he caused by his false testimony. It is not clear
(which 7¥ has to pay, and) whether the explanation of X27 is in a case where the
7w\7¥ were 17 after this admission or not.

- ‘onn 2w
And then he (this 7v who recanted) was discredited by the 7717 process.

mooIn presents (and rejects) a different interpretation of the Xn3:
- AN1932 19530 PN POONY WP 19 OXT PN DY 97 N 957 Zynwun n9INgY

Seemingly it would appear that if the recanting witness stated this (that he
testified falsely) he would pay his share (even without 717), for if indeed it is
true that he testified falsely, so he attempted, through his false testimony, to

cause a loss to his friend’s money. This is how it appears (superficially) from s'827
statement.

moon (however) rejects this interpretation of RX2:
- 7050 199y 1199 BYPHA BN 499 DN XIX PN DYWNT XM “NIYY RNT AN N9

But this does not appear to be correct, for there is no one who maintains that an
7¥ pays money (for recanting); unless he (and the other 7v) was a7 by 2°7¥ who
testify that ‘you were with us in that (other) place so you were not able to see the

! See the marginal notes. Others delete these two words o117 2. Others amend it to N7 (instead of o). This
(ani 21) reflects the conclusion of NN as will be explained later in this MaoIn. See footnote # 7.
> The following is the w1 of the X"2v> 1"2n7 (and perhaps >"w1d [see 25 1"7 *"wA]).
? The n"a7 Mt amends this to read, wpa 19 oX [121] 227 KT 1037 (instead of 3"X7 [121] *37 MK *27).
* X217 (merely) said that the ruling of 27 applies if the witness recants and states >n7va 9pw M7y. There is no mention
of 1. This means that if the v stated °>n7vi 9pw MY (when I testified that 172187 owes 11w»w a hundred 1), this v
must pay 12X fifty 17 (his share) as if there was a . Just like by mnri since we know that this 7v wanted to cause
a loss, so he needs to pay, similarly here when we know (through his admission) that the 7v wanted to cause a loss to
72987, he must pay (his share) as if there was an actual fn777.
3 The n"277 M7 amends this to read, D9WAT MXT IXA X297 (instead of DYWNT 18N RN97).
® The n"a7 M7 amends this to read, 0112 WA o7 10 (instead of opna anna 12).
” There is never an obligation for an 7v to pay because he admits to lying and tried to make the accused pay, unless
there was a proper anr.
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testimony you claim.

In summation; we cannot say that X327 meant that the 7V needs to pay his share because he
admitted that he testified falsely and attempted to cause a loss to the accused. The only time 2>7v
need to pay the accused is if they became 12m71 2°7v when other 2°7¥ claimed an»i 11ny.

mooin offers his interpretation:
- 9111’:\’) mtin 2 N1V APV MTY WHaY v oY

Therefore the explanation of sn7w “pw M7Y is that one 7Y recanted first and

afterwards both 2°7Y were 117 -
- 1myty Ao sneyn AP M1y 9nrTs Cuaay v xnwne

So now we can explain that when one 7v stated snTvm apw nmy, he is
invalidating his initial testimony -

- y72ana O %3 Nt NN N2 XY XYY
So the rules of 77217 do not apply to him (since he already recanted); the 117

applies only by his associate (the other 7). It is the other 7v who must pay his share since
he was anf, but not the 7¥ who recanted since he invalidated his previous testimony, so there can
be no 1. This was s'827 explanation of P51 9% 0>wn onr 7v; we are referring to the 7v who
did not recant.

mooIn continues with the s'k7M3 challenge to s'%27 explanation:
- 5331 910 1R WY 1ADY 19997 DTN YT INN MY NI ITPON 11939105 J5 NN 12999

But the X3 asked; ‘can this 7V be believed’ to recant his testimony?! nv0In
explains; Even if the 7V himself admitted that he lied, nevertheless he can be a7,
for since the rule is that once a witness testifies, he cannot come back and
recant his testimony -

21959 PRSYNY P DAY 11 19 BX) 1927 IX N0 KY3 "M
So it is considered as if he did not contradict his previous testimony, and

¥ This is what Mmoo wrote in the beginning of this Mmoo, See footnote # 1.
? mnrn is effective only if both 2°7y were Y17,
19 The n"21 N3 amends this to read, M7y MRW7T wIoh (instead of N7V MRTD WIDY).
' See “Thinking it over’ # 2.
"2 We are now assuming that we implement the a1 7wX> 12 on*wy), only when the original 07y maintain their
testimony and were oM. However, since this one 7V recanted his testimony, the rule of ant 2wX> does not apply to
him; it only applies to his friend who did not recant. See ‘Thinking it over’ # 1.
" There is a rule (see 172 7"7 oW *"w72)1 2,7 M2AND) that once a witness gave his testimony he cannot change or
recant his testimony (even if he subsequently admits that he was lying). We only accept his original testimony.
' We discount his recanting and his testimony remains as it was originally. Therefore he (together with the other 7v)
can be onn.
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therefore both o7V become 322y 07V and both pay the money. This cannot
therefore be the case of P2 0% nown omir 7v, since they both pay.

SUMMARY

X217 assumed that if the 7 recanted he can no longer be liable for the Y7 anwn
ant wRD. However, the X773 concluded that his recanting is meaningless and WX>
ant applies to him as well. The X3 did not (ever) mean that the 7v should pay
(without 71777) because he recanted.

THINKING IT OVER

1. X271 assumed that since this one 7v recanted he is not 717 77102."° On the other
hand n9oI1n maintains that both N7 have to be ann.'® If however one of the o*7y
(the one who recanted) is not 7n73 NN, why should the other 7v (who was ann)
pay; since there was no 71 090 by both a7 ?!"”

2. According to s'827 thinking that by saying *n7va 2w m7v he is M7y 1Mo;'® the
rule of 7715 7v1a n¥pPn 77vaw M7V should apply and the testimony of the second 7v
is also 1912, and there can be no !

15 See footnote # 12.
16 See footnote # 9.
17 See w210 and TMoN wAON K # 71
18 See footnote # 11.
19 See 1M "won XK # 76-78.
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